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Usually don't write the full derivation
Õ+ ((T+2) +3)
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Thmi est él if and
only if ets'e' for some 120
Proof.
  By induction on the derivation of enkel
Case (3) Then e=e'. By (1), eHe
Case (4) then eHe" and e" HR é!
By induction ella" e' for some nz0.
By (2), e 17le', and 1 0.
E By induction on the derivation of enne!
Case (1) Then 1=0 and e=e!. By (3); en*e.
Case (2) then 1=M+l and etse" and ellriè'.
By induction, e"*e'. By (), en*e'. o
Ex. 1 + "Hello"+)?
(1+2) + "Hello" +> 3 + "Hello" +?
Static Semantics (Type system)
Syntax for types: t ::= int | string
Judgment: eit "è has type t"
7: int
"g": string
Gistring existring (T-4)
ei^ ezi string
-(T-1)
-(1-2) e, int ézint (T-3))
ei tez: int
Listring (T-S)
leliint
es!
These need to be
Not enough to just have I
then we couldn't give a type
to (1+2) +3



Typing derivations
(T-1).
(T-1)
Tint Zint (T-32
IFI: int
(T-31/5/
Jint (T-1) (1+2) +3 : int
0 + ((1+2) + 3) : int
(J-2!.
-CT-2)
"(":string (T-4).
Tab":string
"ab" ^ "("" : string (T-S)
1" ab" ^ "c" | : int
3 int (T-1)
·(7-2)
(1
|+"Hello"%= for my 2.
Idea: If ė:t, then e will never "get stuck":


